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M.Com (Final) Examination

Cost and Management Accounting

Paper - MCOM-08
Time : 3 Hours ]	 [ Max. Marks :- 80

Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZnÌ "A', "~' VWm "g' VrZ IÊS>m| ‘| {d^³V h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{O¶o&

	 Section - A	 8 × 2 = 16
(Very Short Answer Type Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum upto 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{O¶o& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{O¶o& àË¶oH$ àíZ 
2 A§H$ H$m h¡&

1)	 (i)	 What do you mean by ‘Cost centre’ ?

		  bmJV Ho$ÝÐ go AmnH$m ³¶m Ame¶ h¡?
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	 (ii)	 Give formulae for determination of ‘Maximum stock level.’

		  A{YH$V‘ ñQ>m°H$ ñVa kmV H$aZo H$m gyÌ Xr{O¶o&

	 (iii)	 Mention any two differences between fixed and variable 

overheads.

		  pñWa Ed§ n[adV©Zerb Cnarì¶¶m| ‘| H$moB© Xmo AÝVa ~VmB¶o&

	 (iv)	 What is Activity based costing ?

		  {H«$¶m AmYm[aV bmJV {ZYm©aU {d{Y ³¶m h¡?

	 (v)	 What is Flexible Budget ?

		  bmoMXma ~OQ> ³¶m h¡?

	 (vi)	 Current liabilities of a company are Rs. 3,00,000. Its 

current ratio is 3 and liquid ratio is 1. Calculate value of 

Inventories.

		  EH$ H$ånZr Ho$ Mmby Xm{¶Ëd 3,00,000 é. Ho$ h¢& ¶[X BgH$m Mmby 
AZwnmV 3 Ed§ Vab AZwnmV 1 h¡ Vmo ñH§$Y H$m ‘yë¶ kmV H$s{O¶o&

	 (vii)	A company has fixed expenses of Rs. 90,000 with sales 

Rs. 3,00,000 and a profit of Rs. 60,000 calculate p/v ratio.

		  EH$ H$ånZr Ho$ pñWa ì¶¶ 90,000 é, {dH«$¶ 3,00,000 é Ed§ bm^ 
60,000 é Ho$ hmo Vmo bm^ ‘mÌm AZwnmV kmV H$s{O¶o&

	 (vii)	Write any four techniques of financial statement analysis.

		  {d{Îm¶ {ddaU {díbofU H$s {H$Ýht Mma VH$ZrH$m| Ho$ Zm‘ Xr{O¶o&

	 Section - B	 4 × 8 = 32
(Short Answer Type Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.
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(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht 4 àíZm| Ho$ CÎma Xr{O¶o& Amn AnZo CÎma H$mo A{YH$V‘ 200 

eãXm| ‘| n[agr{‘V H$s{O¶o& àË¶oH$ àíZ 8 A§H$ H$m h¡&

2)	 Prepare a store Ledger Account showing the issue of material 

on (a) First in First out method (b) Last in first out method.

	 {ZåZ gyMZmAm| Ho$ AmYma na gm‘J«r H$m {ZJ©‘Z (A) àW‘ AmJ‘Z, àW‘ 
{ZJ©‘Z (~) A§{V‘ AmJ‘Z àW‘ {ZJ©‘Z {d{Y¶m| go {XImVo hþE ñQ>moa 
ImVm ~ZmB¶o -

Receipts

àmpßV¶m±
Issues

{ZJ©‘Z
Date Units Rate Date Units

03.01.2014 2000 @Rs. 1.00 04.01.2014 500

05.01.2014 3000 @Rs. 1.40 07.01.2014 2000

10.01.2014 2000 @Rs. 1.50 15.01.2014 3000

20.01.2014 3000 @Rs. 1.80 25.01.2014 2500

3)	 Write short notes on following:

	 {ZåZ{b{IV na g§{jßV {Q>ßn{U¶m± {b{I¶o -
	 (a)	 Abnormal Wastage (Agm‘mÝ¶ j¶)
	 (b)	 Joint Product (g§¶w³V CËnmX)

4)	 What is meant by operating costing ? In which industries is it 

used ? What are the main objects of operating costing.

	 n[aMmbZ bmJV {ZYm©aU ar{V go ³¶m A{^àm¶ h¡? ¶h {H$Z CÚmoJm| ‘| 
AnZmB© OmVr h¡? n[aMmbZ bmJV {ZYm©aU Ho$ ‘w»¶ CÔoí¶ ³¶m h¡?
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5)	 Explain the meaning of ‘Marginal Costing’ and give its 

advantages and limitations.

	 "gr‘mÝV bmJV boIm§H$Z' H$m AW© g‘PmB¶o VWm BgHo$ bm^ Ed§ gr‘mAm| 
H$m CëboI H$s{O¶o&

6)	 From the following information, prepare cash flow statement 

for the year ended 31st March 2015 :-

	 {ZåZ{b{IV gyMZmAm| go 31 ‘mM© 2015 H$mo g‘mßV df© Ho$ {bE amoH$S> 
àdmh {ddaU V¡¶ma H$s{O¶o -

Particulars Amount (Rs.)

Opening cash balance

Closing cash balance

Decrease in Trade receivables

Increase in Trade payables

Sale of Fixed Assets

Redemption of Debentures

Net Profit for the year before Tax

10,000

12,000

5,000

7,000

20,000

50,000

20,000

7)	 Write explanatory notes on following -

	 {ZåZ na ì¶m»¶mË‘H$ {Q>ßnUr {b{I¶o -
	 (a)	 Job costing method (CnH$m¶© bmJV {ZYm©aU {d{Y)
	 (b)	 Cash Budget (amoH$S> ~OQ>)
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8)	 From the following details calculate the labour cost chargeable 
according to :-

	 (i)	 The Rowan scheme
	 (ii)	 The Halsey 50% scheme
	 {ZåZ {ddaUmo go (i) amodZ ¶moOZm (ii) hmëgo 50% ¶moOZm Ho$ AZwgma MmO© 

H$aZo ¶mo½¶ l‘ bmJV H$m n[aH$bZ H$s{O¶o&
	 Time Allowed (à‘mn g‘¶) : 5 Hours 30 minutes

	 Time Taken (à¶w³V g‘¶) : 4 Hours 25 minutes

9)	 Explain briefly the meaning and significance of the following 
ratios -

	 {ZåZ AZwnmVmo H$m AW© Ed§ ‘hËd g‘PmB¶o&
	 (a)	 Current  Ratio (Mmby AZwnmV)
	 (b)	 Debtor’s Turnover Ratio (XoZXma AmdV© AZwnmV)

	 Section - C	 2 × 16 = 32
(Long Answer Type Questions)

Note:	 Answer any two questions. You have to delimit your 
answer maximum upto 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{O¶o& AmnH$mo AnZo CÎma H$mo A{YH$V‘ 
500 eãXm| VH$ n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$ H$m h¡&

10)	 Write short notes on –
	 g§{jßV {Q>ßn{U¶m± {b{I¶o -
	 (a)	 Economic order quantity (Am{W©H$ AmXoe ‘mÌm)
	 (b)	 Minimum stock level (Ý¶yZV‘ ñQ>m°H$ ñVa)
	 (c)	 Reorder level (nwZ: AmXoe ñVa)
	 (d)	 Zero Base Budgeting (eyÝ¶ AmYma ~OQ>Z)
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11)	 Distinguish between -

	 AÝVa ñnîQ> H$s{O¶o -
	 (a)	 Absorption and apportionment of overheads

		  Cnarì¶¶m| H$m AdemofU Ed§ AZw^mOZ
	 (b)	 Over absorption and under absorption of overheads

		  Cnarì¶¶mo H$m AË¶mdemofU Ed§ Ý¶yZmdemofU
	 (c)	� Absolute Tonne Kilometre and Commercial Tonne 

Kilometer

		  n[aewÕ Q>Z {H$bmo‘rQ>a Ed§ dm{UpÁ¶H$ Q>Z {H$.‘r.
	 (d)	 Fixed and Flexible Budget

		  pñWa Ed§ bmoMXma ~OQ>

12)	 From the following information find out material cost variance, 

price variance, usage variance, mix variance and yield 

variance:

	 {ZåZ{b{IV gyMZmAm| go gm‘J«r bmJV {dMaU, ‘yë¶ {dMaU, à¶moJ ‘mÌm 
{dMaU, {‘lU {dMaU VWm CËnmXZ {dMaU H$s JUZm H$s{O¶o :-

Materials Standard Actual

X

Y

120 kgs @Rs. 5

80 kgs @Rs. 10

Rs.

600

800

112 kgs @Rs. 5

88 kgs @ Rs. 10

Rs.

560

880

Loss

200 kgs

60

1400

–

200 kgs.

50 loss

1440

–

Output 140 kgs 1400 150 kgs. 1440
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13)	 From the details given below, calculate : (a) p/v ratio (b) sales 
at break even point (c) sales to earn a profit of Rs. 30,000 (d) 
Sales to give a net income of 10% on sales (e) sales units 
required to earn a profit of Rs. 30,000 after income tax if tax 
rate is 50%.

	 {ZåZ{b{IV {ddaUm| go kmV H$s{O¶o : (A) bm^ ‘mÌm AZwnmV (~) 
g‘ {dÀN>oX {dH«$¶ {~ÝXþ (g) 30,000 é. H$m bm^ A{O©V H$aZo Ho$ 
{bE Amdí¶H$ {dH«$¶ am{e (X) {dH«$¶ na 10% bm^ A{O©V H$aZo hoVw 
Amdí¶H$ {dH«$¶ am{e (¶) Am¶H$a H$s Xa 50% ‘mZVo hþE Am¶H$a Ho$ 
níMmV² 30,000 é. A{O©V H$aZo hoVw Amdí¶H$ {dH«$¶ BH$mB¶m± :

	 Selling Price ({dH«$¶ ‘yë¶) = Rs. 10 per unit

	 Variable works cost (n[adV©Zerb {Z‘m©U bmJV) Rs. 5.50 per 
unit.

	 Variable selling cost (n[adV©Zerb {dH«$¶ bmJV) = Rs. 1.50 per 
unit.

	 Fixed works cost (pñWa {Z‘m©U bmJV) = Rs. 2,70,000

	 Fixed selling cost (pñWa {dH«$¶ bmJV) = Rs. 1,26,000


